FAL6218

94-97 Ford 7.3L Powerstroke Down Pipe

HNSO001-375

Eb/ HWS0003-375

3.0AC

% HBS0003-024

HWS0001-375
© J
@ W124041
HWS0001-375

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 W 124040 PIPE ASSEMBLY, 3", UPPER DOWN 1

2 W124041 PIPE ASSEMBLY, 3", LOWER DOWN 1

3 3.0AC CLAMP, 3.0", BAND 1

4 HBS0003-024 BOLT, HEX, 3/8-16 x 3" GR 5, IN 2

5 HWS0001-375 WASHER, FLAT, 3/8", ZN 4

6 HWS0003-375 WASHER, LOCKING, 3/8, ZN 2

7 HNS0001-375 NUT HEX 3/8" GR5 ZN 2

29-Oct-19
REV:A

MSrr



	FAL6218
	Drawing View1


